Multiplication task 2

Q1.

Match each egg box to the correct multiplication.

One is done for you.

6% 2

5 X3

3% 2

5% 2

Q2.
Abi has 2 pots.

She plants 7 seeds in each pot.

How many seeds does she plant altogether?

seeds
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Q3.

Q4.

Sita puts 2 shoes in each of these boxes.

How many shoes are there altogether?

Ben has five marbles.

Kemi has seven times that number.

How many marbles does Kemi have?
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shoes

marbles




5.

Sita puts 10 balls in each bag.

%
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How many balls are in the bags altogether?
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balls




Q6.

Amy plants 4 rows of carrots.

There are 3 carrots in each row.

A rabbit eats 2 of the carrots.

How many carrots are left?
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carrots
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Q7.

Kemi makes a pattern with sticks.

Some are long and some are short.

She writes a number pattern on the sticks.
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Write the number that will be on the next short stick.
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Checking station

b6x2

5x3

5% 2

Q2.

14 (seeds)

Q3.

14 (shoes)

Q4.

35 (marbles)
Do not accept 5 x 7 or 7 x 5 unless evaluated.

Q5.
100 (balls)

Q6.

10

Q7.
55
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